CITY OF PORTLAND ELECTRONIC STAMP:

CLIENT:

TRACK {1 1/2" MIN. DEEP LEGS). FASTEN MTL. STUD TO RUNNER

CONNECT TO STRUCTURE WITH (2}
#12SCREWS @ 16" O.C.

1/2" DEFLECTION SPACE (DG N TO
FASTEN RUNNER, STUDS, OR G

BD. TO COMP. TRACK]

CONT. 3 5/8" X 20 GA. TRACK — —
WITH (1) #12 SCREW IN EACH : B

FLANGE OF EACH STUD
SEE SCHEDULES FOR FINISHES RUNNER TRACK
AND STUD SIZES
SOUND ATTENUATIN -

INSULATION (S.1.C_#47)

ASSEMBLY}’ﬁQ UL NO. U411

(E} STEEL COULMN

33" METAL STUDS TO SPAN BETW
COLUMN FLANGES, AS REQ'D.

HOLD GYP. BD
TIGHT TO COLUMN

ONE LAYER 5/8" TYPE 'X' GYP.
BD., TYP. ALL SIDES

NOTES: e
c —
£|E ~ T
. E LOOSE PVC TOP CAP 255 MASSACHUSETTS AVENUE #8041
1. TYPE "A" BACKING FOR MISC. ITEMS, IE. 5 § B 4" DIAMETER THRU BOLT | | BOSTON, MA 02115
SURFACE MTD. MIRRORS, WASTE W/TOGGLE (TYP. OF 2) PHONE: (603) 421-6500
RECEPTACLES, TOWEL DISPENSERS, ETC. DOUBLE STUD @ SIDES 17°-19" - WEBSITE:http:/Imusepaintbar.com/
MAXIMUM WEIGHT - 50 LBS. T . N OF OPENINGS 05 430-485 mm /f ARGHIECT:
2. TYPE "B" BACKING PLATES FOR UPPER WALL \\ | '
HUNG CABINETS (UP TO 2 SHELVES) BASE I LINE OF CEILING, —_ N\ = h
CABINETS, FULL HEIGHT CABINETS, HANDRAILS, £lg _ e } T
WHERE OCCURS Xx|E © L PAN HEAD SCREWS TO = P ase_zero
GUARDRAILS, GRAB BARS, WALL HUNG L 5|8 2|¢ N ] LABEL [ d
EQUIPMENT, ETC. ~T S E|3 B|E ¢ N\ &\ SECURE STRAP < N ] esl g n
MAXIMUM WEIGHT - 100 LBS./FT. LA =TT ST E|2 E|lE N < E -
3. SEE TYPICAL WALL FRAMING FOR GAUGE 21 u\ 3 NI | == j
OF STUDS, VERIFY LENGTH, HEIGHT, LOCATION \ -~ BACKING PLATE ! . 2|5 3/4" X 2" POPLAR y SIS TR s
OF BACKING PLATE, AND NUMBER. ~m=1 A L = / 5,/ PLYWOOD TRIM 2"X4" S PHONE: (850) Z64-1624
4. REQ'D WITH ACCESSORY MANUFACTURERS. L 1 I l SA%< ) o SCREWED TO 2"X4". FAX: (860)264-1628
USE #12 SELF TAPPING SHEET METAL SCREWS - - 6" x 16 GA MIL. PLANT g% /f o 2|4 6" DIAMETER - WEBSITE: wwwphasezerodesign.com
WHEN ATTACHING ITEMS TO BACKING PLATE. WELDED @ 4 STUD MIN 6" max. 8" mi % / AN = Q PVC TUBE HOLDER
' 150 mm 205 mm P RS @ ]
5. WALL STUD FLANGES ARE CONTINUOUS AT B 4 STUDS . <22 ——
BACKING PLATE ’ M e S0 - '
' @16"O.C: Q’: N METAL STRAP %
MIN. NOTE: EQUIPMENT PERMITTED s (TYP. OF 2) -
IN SHADED AREA L .
DOUBLE STUD @ SIDES L | —
OF OPENINGS e
<~ SECTIO PVC BOTTOM CAP
GLUED IN PLA
TYP. 20 GA. MIN. DOUBLE STUD @
SCREW STUDS SIDES OF (b) ELEVATION
OWNER:
OPENINGS SPOUT R FLOOR SPACE
AND KNEE'CLEARANCE
3/8" LONG
1/16" TYP PLUMBING THIS TUBE CONTAINS NOTE:
ALL FLANGES OF NOTE: CONTRACTOR MUST STORE DRAWINGS AND IS UPON COMPLETION OF PROJECT, G.C. TO
BACKING PLATE TO 16 PROVIDE DRINKING FOUNTAIN IF REQ'D. BY CODE. IF THE DRINKING PROVIDE AND ATT, NOT TO BE REMOVED PROVIDE A COMPLETE SET OF DR
GA. STUD FOUNTAIN IS LOCATED IN THE PATH OF TRAVEL, A TEXTURED AREA A LABEL (WITH R WITHOUT THE CONSENT FOR THE COMPLETED STORE
1'-0" AROUND THE FOUNTAIN, CLEARLY IDENTIFIABLE BY THE BLIND IS ; OF THE STORE MANAGER. (ARCHITECTURAL, MECHANICAL AND
REQUIRED. BUBBLER IS TO BE ACTIVATED BY A HANDICAP PUSH BAR ELECTRICAL) AND PLACE DRAWINGS INTO
20 GA. ON FRONT FACE OF UNIT. THANK YOU. DRAWING TUBE.
16 GA. SCREW STUDS
WHERE BACKING (3) #8 F.HS.D.S.
PLATES OCCUR
BACKING PLATE 6" x 1
1/4" 16 GA. TRACK BACKING PLATE 6'x 1 1" LONG 1/16 MANEUVERING CLEARANCE @ HI/LO DRINKING FOUNTAIN DRAWING TUBE DETAIL
NOTCHED AROUND 1/4" 16 GA. TRACK GROOVE WELD SCALE: 1/2"=1'-0" SCALE: 3"=1'-0"
AND WELDED TO STUDS NOTCHED AROUND TYP. @ WEB OF
AND WELDED TO STUDS BRACING PLATE
TO STUD
1" LONG 1/16 48" min. 7
BLOCKING PLATE TYPE "B" GROOVE WELD TYP. BLOCKING PLATE TYPE "A" 1220 mm
@ WEB OF BRACING
24" max. —_
PLATE TO STUD X Z 3 5/8" 20 GA STUD W/ 4 #8 TIES 00 ° m —
- 610 mm < TO UNDERSIDE OF SLAB. , 7
17"-25 >< LLl
5 2 < W =
STUD GA. LIMITING HT. SCHEDULE 430-635 mm EQUIPMENT PERMITTED = m o ©
() ~
. IN SHADED AREA 1719 < = < o
A. TABLE BELOW IS BASED ON UNIVERSAL INDUSTRIES, UNIMAST (USG) CORPORATION'S LIMITING HEIGHT TABLES FOR N S <C
UNBRACED STUDS SPACED 16" AND 24" O.C. (SYSTEM FOLDER SA-923-1990 EDITION), REQUIREMENT FOR 5 PSF LATERAL “U30-485 m I T fan)
PRESSURE AND 1/240 ALLOWABLE DEFLECTION FOR FLEXIBLE FINISHES, WITH 1 LAYER OF GYP. BD. PER SIDEOFSTUD. V0 7 0 oo [\, '~ A7y o~ Z = —
(4) #8 TEK SCREWS - | O E. =
B. SCHEDULED HEIGHTS MAY BE INCREASED BY 50% WHERE THE STUDS ARE DIAGONALLY BRACED AT THE MAXIMUM - < r O <
HEIGHT POINT TO THE STRUCTURE ABOVE @ 4-0" O.C. / n_ 0 = (a
C. CAUTION! WHEN USING STUDS MANUFACTURED BY A COMPANY OTHER THEN USG, VERIFY MANUFACTURERS STUD . c [3 UNDERSIDE OF STRUCTURE = E L
STRENGTH AND LIMITING HEIGHT. ADJUST GAUGE AND MAXIMUM HEIGHT RECOMENDED BY MANUFACTURER'S - |.|J S F %
CURRENT PRINTED SPECIFICATION. \ O o =
s N . \™VY_ -\ T 35/8", 20 GA STUDS DIAGONAL N o 8
BRACING TO STRUCTURE AT 4-0" : Q
. O.C. ALTERNATE DIRECTION
Stud Stud Gauge Stud Maximum 35/8" 20 GA STD LEG TRACK ————= 7 ! = | N
/
Width Type Stud Bottom Track| Top Track Spacin Height °
yp Spaf) — pacing g 8" (205 mm) MIN.—_/ Cepis
80’ 116 . (4) #8 TEK SCREWS
1-5/8" 158ST725 25 18 18 18 16" 9'-6"
158ST125 25 18 18 18 24" 7'-3"
2.1/2" 212ST20 20 18 18 | 18 16" 14'-0" @) (®) ]
212ST20 20 18 18 18 24" 12'-3" SPOUTHEIGHT LEAR FLOOR SPACE
EE CLEARANCE
3-5/8" 358ST120 20 18 18 18 16" 18'-3" - METAL STUD FRAMING o
3585720 20 18 18 | 18 24" 16'-0" NOTE: % m
PROVIDE DRINKING FOUNTAIN IF REQ'D. BY CODE. IF THE DRINKING %
6" 600ST20 20 18 18 18 16" 26'-6" FOUNTAIN IS LOCATED IN THE PATH OF TRAVEL, A TEXTURED AREA T oS
6" 600ST20 20 18 18 18 24" 23'-3" 1'-0" AROUND THE FOUNTAIN, CLEARLY IDENTIFIABLE BY THE BLIND IS LINE OF CEILING 5/8" GYP. BD.
REQUIRED. BUBBLER IS TO BE ACTIVATED BY A HANDICAP PUSH BAR .
ON FRONT FACE OF UNIT. S~ /]
9 METAL FRAMING BACKING DETAILS MANEUVERING CLEARANCE @ DRINKING FOUNTAIN PARTITION BRACING DETAIL
SCALE: 1/2"=1'-0" SCALE: 1/2"=1'-0" SCALE: 3"=1'-0"
ISSUE DATE: 01.20.2014
SCALE: AS NOTED
ONNECT DEFLECTION TRACK TO
STRUCTURE W/ (2)-#12 SCREWS 16" SEAL:
0.C. FOR METAL DECK INSTALLATION
3/4u/\ v /r\3/4u
MAX‘ 171 MAX
HOLD GYP. BD.
7 7 TIGHT TO COLUMN
y | e
va : FIRE CAULKING W/ BACKER RO N E — —&—
n— - ym E: | ‘: 0
< 2 LAYERS TYPE "X" GYP. BD. =
H— BASE {AS SCHEDULED d
O BOTH SIDES C ( ) : ( %
CONT 18 GA. DEEP LEG DEFLECTION & = | N\ Q
- ~

PROJECT NUMBER: 1113158
DRAWN BY: LAH
CHECKED BY: MSG

Copyright (¢} by Phase Zero Design Corp.
All Rights Reserved.

SHEET TITLE:

TYPICAL DETAILS

SHEET NUMBER:

DEFLECTION TRACK (2-HOUR RATED)

SCALE: 3"=1'-0"

8 DEFLECTION TRACK (NON-RATED)

SCALE: 3"=1'-0"

L NOT USED

SCALE: 1 1/2"=1'-0"

TYPICAL COLUMN ENCLOSURE

SCALE: 1 1/2"=1'-0"

A500




